hl

h2

h3

hl

h2

h2

h3

hl

h2

h3

hl

h2

h3

M=
ASC 13

M: M-30

M: C-40

)

QY B  [O=6)-» (©)
B®=0®-»
hl BP 150 156 6
h2 112 117 5
h3 150 155 5
hl 150 152 2
h2 BP+1.736 112 113 1
h3 150 154 4
hl 150 154 4
h2 112 112 0
h3 BP+6.000 150 151 1
hl 150 151 1
h2 112 113 1
h3 150 153 3
hl BP+12.00 150 150 0
h2 112 114 2
h3 150 152 2
hl 150 154 4
h2 BP+17.00 112 114 2
h3 150 152 2
hl 150 150 0
h2 112 112 0
h3 NO.1 150 150 0
hl 150 151 1
h2 112 113 1
h3 150 151 1




O

» ®) ©=6)-( ® QY ® ©=B-» ()
B®=0®-M B®=0®-»

NO.1+14.0

hl BP 150 156 6 hl 00 150 153 3

h2 112 117 5 h2 112 113 1

h3 150 155 5 h3 150 151 1
NO.1+18.0

hl BP+1.736 150 152 2 hl 00 150 154 4

h2 112 113 1 h2 112 112 0

h3 150 154 4 h3 150 150 0

hl BP+6.000 150 154 4 hl NO.2 150 155 5

h2 112 112 0 h2 112 116 4

h3 150 151 1 h3 150 154 4
NO.2+6.00

hl BP+12.00 150 151 1 hl 0 150 152 2

h2 112 113 1 h2 112 114 2

h3 150 153 3 h3 150 154 4
NO.2+10.0

hl BP+17.00 150 150 0 hl 00 150 150 0

h2 112 114 2 h2 112 115 3

h3 150 152 2 h3 150 151 1
NO.2+15.0

hl NO.1 150 154 4 hl 00 150 150 0

h2 112 114 2 h2 112 115 3

h3 150 152 2 h3 150 152 2

NO.1+3.00

hl 0 150 150 0 hl NO.3 150 156 6

h2 112 112 0 h2 112 115 3

h3 150 150 0 h3 150 154 4
NO.1+5.50 NO.3+5.00

hl 0 150 151 1 hl 0 150 155 5

h2 112 113 1 h2 112 114 2

h3 150 151 1 h3 150 150 0




hl h2 h3
BP 150 156 +6 112 117 +5 150 155 +5
BP+1.736 150 152 +2 112 113 +1 150 154 +4
BP+6.000 150 154 +4 112 112| £0 150 151 +1
BP+12.00 150 151 +1 112 113 +1 150 153 +3 hi ho hgﬁ
BP+17.00 150 150, *0 112 114 +2 150 152 +2
NO.1 150 154 +4 112 114 +2 150 152 +2 ASC Mi3
NO.1+3.000 150 150 0 112 12|  +0 150 150, +0 i M: M-30
NO. 1+5.500 150 151 +1 112 113 +1 150 151 +1 : M- €40
NO.1+14.000 150 153 +3 112 113 +1 150 151 +1 ‘
NO.1+18.000 150 154 +4 112 112| £0 150 150, +0 :
BP
BP+1.736
BP+6.000
BP+12.00
BP+17.00
NO.1
NO.1+3.000
NO.1+5.500
NO.1+14.000

NO.1+18.000




000°9+C 0N

¢ ON

000°8T+T"ON

000" ¥T+T"ON

00S°G+T°ON

000"€+T"ON

T°ON

00°.T+dd

00°¢T+dq

000°9+dd

9€L"T+d4

dd

hl

h2

h3




(h1)

8/13

(

)

12

11

10

-13

-12

-11

-10

[3.0]

10

11

12

13




(D)

hi h2 h3
mm h1l mm h2
BP 150 156 6 BP 112 117 5
BP+1.736 150 152 2 BP+1.736 112 113 1
BP+6.000 150 154 4 BP+6.000 112 112 0
BP+12.00 150 151 1 BP+12.00 112 113 1
BP+17.00 150 150 0 BP+17.00 112 114 2
NO.1 150 154 4 NO.1 112 114 2
NO.1+3.000 150 150 0 NO.1+3.000 112 112 0
NO.1+5.500 150 151 1 NO.1+5.500 112 113 1
NO.1+14.000 150 153 3 NO.1+14.000 112 113 1
NO.1+18.000 150 154 4 NO.1+18.000 112 112 0
NO.2 150 155 5 NO.2 112 116 4
NO.2+6.000 150 152 2 NO.2+6.000 112 114 2
NO.2+10.000 150 150 0 NO.2+10.000 112 115 3
NO.2+15.000 150 150 0 NO.2+15.000 112 115 3
NO.3 150 156 6 NO.3 112 115 3
NO.3+5.000 150 155 5 NO.3+5.000 112 114 2
NO.3+10.000 150 153 3 NO.3+10.000 112 113 1
NO.3+14.000 150 156 6 NO.3+14.000 112 115 3
NO.3+18.000 150 152 2 NO.3+18.000 112 114 2
NO.4 150 156 6 NO.4 112 117 5
v T

—/




o X ()
- + -
! + +
= & o & )
BP hl 150 156 6
h2 112 117 5 /
h3 150 155 5
BP+1.736 hl 150 152 2
h2 112 113 1
h3 150 154 4
BP+6.000 hl 150 154 4
h2 112 112 0
h3 150 151 1
BP+12.00 hil 150 151 1
h2 112 113 1
h3 150 153 3
BP+17.00 hil 150 150 0
h2 112 114 2
h3 150 152 2
NO.1 hl 150 154 4
h2 112 114 2
h3 150 152 2
N0.1+3.000  hl 150 150 0
h2 112 112 0 Y
h3 150 150 0
NO.1+5.500  hl 150 151 1
h2 112 113 1
h3 150 151 1
» ( » ( )
h1 h2 haﬂ
Mz
ASC 13
{ M: M-30
{ M: C-40
|
|

e hl A h2
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| | e | | | |BP+1.736 |
h1 h2 h3rPﬂ h1 h2 h3
- — 1 - 1
l M ASC 13 l l M: ASC 13 l
; M: M-30 ; M: M-30
} M: C-40 ‘ M: C-40
hl h2 h3 hl h2 h3
150 112 150): 150 112 150
156 117 155]: 152 113 154
| | [Bp+6.000 | | | [sr+12.00 |
h1 h2 h3rPﬂ h1 h2 h3
- — 1 0 1
l M ASC 13 l l M: ASC 13 l
; M: M-30 ; M: M-30
3 M: C-40 : M: C-40
hl h2 h3 hl h2 h3
150 112 150]! 150 112 150
154 112 151 151 113 153
| | [sr+17.00 | | [noua
h1 h2 h3 dh ht h2 h3 gy
- 11 [ [
l M: ASC_ 13 l l M: ASC 13 l
: M: M-30 : M: M-30
3 M: C-40 ‘ M: C-40
hl h2 h3 hl h2 h3
150 112 150] 150 112 150
150 114 152|: 154 114 152
| | [v.1+3.000 | | | [v.1+s.500 |
h1 h2 h3rPﬂ h1 h2 hsrpﬂ
T i - i
l M ASC 13 l l M: ASC 13 l
; M: M-30 ; M: H-30
: M: C-40 : M: C-40
hl h2 h3 hl h2 h3
150 112 150] ! 150 112 150
150 112 150|: 151 113 151
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